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Indicative content

• receptor detects stimulus

•   e.g. receptor detects pressure

• receptor generates impulses / electrical signals

• neurones conduct impulses / electrical signals

• neurone A conducts impulses to spinal cord

• neurone A = sensory neurone

• synapse between neurones

• chemical (/ neurotransmitter) crosses synapse

• chemical stimulates impulse(s) in neurone B

• neurone B = relay neurone

• neurone C = motor neurone

• effector carries out response

•  e.g. muscles of the arm / leg contract

• muscles contract or gland secretes chemicals

to access level 2, candidates need to consider, in terms of the indicative content, the

receptor, the neurones and the effector in the correct sequence
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(h) caffeine speeds up reflex actions

Or

reduces reaction time
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(ii) 1.6 (cm per millisecond)

allow 2 if evidence of rounding up of 1.6

1

(iii) any two from:

ignore length of neurones

• synapses slow down transmission / impulse

allow idea of movement of chemical being slower than electrical

impulse

• fewer synapses (via brain)

allow one synapse compared to two or only one synapse

• (therefore) fewer delays

allow impulse travels more slowly in relay neurones
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(iv) automatic / rapid (response)

allow no thinking / faster / less time

1

protects body from danger / from damage / from burning
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